EXHIBIT A

COMPENSATION BY CATEGORY

Project Category	Total Hours	Total Fees
B110 Case Administration	38.7	\$17,905.50
B120 Asset Analysis and Recovery	10.2	\$5,355.00
B130 Asset Disposition	52.9	\$23,302.50
B150 Meetings and Communications with	17.4	
Committee Members and Other Unsecured		\$8,005.00
Creditors		
B160 Employment & Retention Applications	12.8	\$5,236.00
(Morris James)		\$3,230.00
B165 Employment and Retention Applications	9.8	\$4.245.00
(others)		\$4,245.00
B170 Fee Applications (MJ)	1.1	\$467.50
B175 Fee Applications (Others)	3.1	\$1,260.50
B175A Fee Applications (Others – Objections)	3.9	\$916.50
B190 Other Contested Matters (excluding		¢12 525 50
assumption/rejection motions)	36.9	\$13,535.50
B196 Litigation	6.3	\$3,307.50
B210 Business Operations	1.1	\$264.50
B220 Employee Benefits/Pensions	1.6	\$840.00
B230 Financing/Cash Collateral	29.6	\$13,074.00
B430A Court Hearings: Attendance and		\$517.00
Preparation	2.2	\$517.00
Totals	227.6	\$98,232.00

Timekeeper Summary:

	D	D. A.	TT	A
Timekeeper	Position	Rate	Hours	Amount
	Member of the			
	Delaware Bar since			
	2008; Partner in			
	Bankruptcy Department			
Eric J. Monzo	since 2014	\$525.00	84.5	\$44,362.50
	Member of the			
	Delaware Bar since			
	2005; Senior Counsel in			
	Bankruptcy Department			
Brya M. Keilson	since 2019	\$425.00	106.5	\$45,262.50
	Paralegal in Bankruptcy			
William W. Weller	Department since 2002	\$245.00	.6	\$147.00
	Paralegal in Bankruptcy			
Jamie L. Dawson	Department since 2009	\$235.00	36.0	\$8,460.00
	Totals		227.6	\$98,232.00
	Blended Rate:	\$357.50		

Case 19-11299-LSS Doc 341-3 Filed 09/03/19 Page 4 of 21

Morris James LLP

500 Delaware Avenue, Suite 1500 P. O. Box 2306 Wilmington, Delaware 19899-2306 (302) 888-6800 Facsimile (302) 571-1750

Federal Tax I.D. 51-0023480

Official Committee of Unsecured Creditors Vista Outdoor Sales, Chair Attn: James G. Hanus 1 Vista Way Anoka, MN 55303

August 20, 2019 Invoice 540815

Matter Name: SportCo Holdings, Inc., Case No. 19-11299-LSS

Matter Number: 133828-0001 Attorney: Eric J. Monzo

For Professional Services through July 31, 2019

Fees \$98,232.00

Disbursements \$1,044.35

Total Charges \$99,276.35

Fee Recap					
		Hours	Rate/Hours	Amount	
Eric J. Monzo	Partner	84.50	525.00	44,362.50	
Brya M. Keilson	Senior Counsel	106.50	425.00	45,262.50	
Jamie L. Dawson	Paralegal	36.00	235.00	8,460.00	
William W. Weller	Paralegal	0.60	245.00	147.00	
	Totals	227.60		98,232,00	

Case 19-11299-LSS Doc 341-3 Filed 09/03/19 Page 5 of 21 August 20, 2019 Page 2

	Services by Task Code		
		Hours	Amount
B110	Case Administration	38.70	17,905.50
B120	Asset Analysis and Recovery	10.20	5,355.00
B130	Asset Disposition	52.90	23,302.50
B150	Meetings/Communications with Committee and/or Creditors	17.40	8,005.00
B160	Retention Applications (MJ)	12.80	5,236.00
B165	Retention Applications (Others)	9.80	4,245.00
B170	Fee Applications (MJ)	1.10	467.50
B175	Fee Applications (Others)	3.10	1,260.50
B175A	Fee Applications (Others - Objections)	3.90	916.50
B190	Other Contested Matters (excluding assumption/rejection motions)	36.90	13,535.50
B196	Litigation	6.30	3,307.50
B210	Business Operations	1.10	264.50
B220	Employee Benefits/Pensions	1.60	840.00
B230	Financing/Cash Collateral	29.60	13,074.00
B430A	Court Hearings: Attendance and Preparation	2.20	517.00
	Totals	227.60	\$98,232.00

_			
_	Δ	Δ	c

Date	Atty	Description	Hours	Rate	Amount
B110 Case	Administr	ation			
06/17/19	BMK	Meet with committee regarding selection of financial advisors and next steps; review notice of appearance; emails with E. Monzo and paralegal regarding notice of appearance and pro hac motions and discuss case with E Monzo.	2.50	425.00	1,062.50
06/17/19	EJM	Attend financial advisor interviews and review notice of appearance, edit and correspond with co-counsel.	0.50	525.00	262.50
06/17/19	EJM	Review first day motions and orders.	1.70	525.00	892.50
06/17/19	JLD	Obtain chapter 11 petition and update case folder.	0.10	235.00	23.50
06/17/19	JLD	Draft entry of appearance of official committee of unsecured creditors and email draft to E. Monzo and B. Keilson.	0.30	235.00	70.50
06/18/19	BMK	Emails with paralegal and E. Monzo regarding pro hac motions and review same; emails with co-counsel re same.	0.90	425.00	382.50
06/18/19	EJM	Attend initial call with debtors and co-counsel.	0.50	525.00	262.50
06/18/19	EJM	Finalize notice of appearance and pro hac vice motions; co-counsel sign off.	0.20	525.00	105.00
06/18/19	EJM	Review key deadlines re proposed dip and timeline.	1.20	525.00	630.00
06/18/19	JLD	Draft pro hac vice motions for J. Cohen, E. Chafetz and	0.60	235.00	141.00

Case 19-11299-LSS Doc 341-3 Filed 09/03/19 Page 6 of 21 August 20, 2019 Page 3

Date	Atty	Description	Hours	Rate	Amount
Date	Ally	G. Olivera (.3); email drafts to E. Monzo and B. Keilson	Hours	Nate	Amount
		(1.); draft affidavit of service re entry of appearance and			
06/18/19	JLD	pro hac vice motions (.1) revise pro hac vice motions (.1). Calendar hearing date and objection deadline re wages	0.20	235.00	47.00
00/10/13	OLD	motion, insurance motion, bank accounts motion, DIP	0.20	200.00	47.00
		motion and cash collateral motion.			
06/18/19	JLD	File and serve entry of appearance (.2); file and serve pro	0.70	235.00	164.50
		hac vice motions of J. Cohen, E. Chafetz and G. Olivera			
		(.3); upload orders and update case folder (.1); email pro			
		hac motions to J. Cohen, E. Chafetz and G. Olivera (.1).			
06/18/19	JLD	Obtain orders granting pro hac vice motions of J. Cohen,	0.20	235.00	47.00
		E. Chafetz and G. Olivera, update case folder and			
06/19/19	EJM	circulate to group. Research re issues in the case.	1.70	525.00	892.50
06/20/19	EJM	Emails with professionals re case status.	0.30	525.00	157.50
06/20/19	EJM	Emails re discussions with debtors' counsel and hearing	0.20	525.00	105.00
00/20/10		date on motion to shorten employment retention motions.	0.20	020.00	100.00
06/20/19	EJM	Review draft motion re case strategy.	1.60	525.00	840.00
06/20/19	EJM	Emails re employee retention motion.	0.30	525.00	157.50
06/20/19	EJM	Review first day transcript.	1.20	525.00	630.00
06/20/19	EJM	Emails re hearing date on proposed motion to shorten.	0.40	525.00	210.00
06/21/19	EJM	Emails with co-counsel re strategy and case status.	0.20	525.00	105.00
06/21/19	EJM	Emails with co-counsel re hearing schedule and potential	0.20	525.00	105.00
06/21/19	EJM	issues. Review draft objection.	1.50	525.00	787.50
06/21/19	EJM	Review draft employment benefit motion.	1.30	525.00	682.50
06/22/19	EJM	Emails re inquiry to file motion on shorten time.	0.20	525.00	105.00
06/23/19	EJM	Emails re arguments and discussion on motion to	0.80	525.00	420.00
		challenge liquidation.			
06/24/19	EJM	Emails and internal discussion re committee inquiry to	0.20	525.00	105.00
		process.			
06/24/19	EJM	Review draft declaration in support of motion to challenge	0.60	525.00	315.00
00/05/40	- IN 4	transaction.	0.50	F0F 00	202 50
06/25/19 06/26/19	EJM EJM	Review slate of second day motions. Emails re motion to shorten; including emails with US	0.50 0.20	525.00 525.00	262.50 105.00
00/20/19	LJIVI	Trustee counsel and chambers.	0.20	323.00	103.00
06/26/19	EJM	Review Order granting motion to shorten notice on	0.40	525.00	210.00
		Committee's motion for alternative process; and confer			
		with paralegal re service of motion.			
06/26/19	EJM	Emails with co-counsel re pending matters.	0.30	525.00	157.50
06/26/19	EJM	Review second day motions.	2.00	525.00	1,050.00
06/26/19	JLD	Obtain debtors' key employee incentive motion, motion to	0.20	235.00	47.00
		authorize debtors to make post-petition severance			
		payments to non-insider employees, debtors' key employee retention program motion and motion to shorten			
		re same and update case folder.			
06/26/19	JLD	Obtain debtors' motion to establish interim compensation	0.20	235.00	47.00
	•	procedures and reimbursement of expenses of			
		professionals and update case folder (.1); review and			
		calendar relevant dates (.1).			
06/27/19	BMK	Emails regarding hearing on July 1 and related notice of	0.70	425.00	297.50
00/07/10	F 18.4	hearing; review notice.	0.00	F0F 00	457.50
06/27/19	EJM	Discussion with debtors' counsel and notice re change in	0.30	525.00	157.50
06/27/19	EJM	hearing time per Court. Emails re case status and motion posture.	0.40	525.00	210.00
00/21/10	LUIVI	Emailo to odoo otatao ana monon postate.	0.40	020.00	210.00

Case 19-11299-LSS Doc 341-3 Filed 09/03/19 Page 7 of 21 August 20, 2019 Page 4

Date	Atty	Description	Hours	Rate	Amount
06/27/19	JLD	Obtain agenda re July 1 hearing, update case folder and email to J. Cohen and E. Chafetz.	0.10	235.00	23.50
07/01/19	BMK	Emails with paralegal and co-counsel regarding pro hac motions.	0.40	425.00	170.00
07/01/19	EJM	Review and authorize filing of pro hac vice motion of M. Kaplin.	0.20	525.00	105.00
07/01/19	EJM	Meeting with co-counsel and financial advisor re hearing preparation.	1.10	525.00	577.50
07/01/19	JLD	Draft pro hac vice motion for M. Kaplan and email to M. Kaplan (.2); file pro hac vice motion, upload order and update case folder (.2).	0.40	235.00	94.00
07/01/19	JLD	Obtain order approving M. Kaplan's pro hac vice motion, update case folder and email to M. Kaplan.	0.10	235.00	23.50
07/02/19	JLD	Obtain entry of appearance of Garmin, update case folder and 2002 service list.	0.10	235.00	23.50
07/03/19	EJM	Review certification of counsel re hearing dates; confer with paralegal re scheduling.	0.20	525.00	105.00
07/03/19	BMK	Emails with Debtors' counsel regarding hearing dates.	0.30	425.00	127.50
07/03/19	JLD	Obtain certification of counsel re order scheduling August- October omnibus hearing date, update case folder and calendar.	0.10	235.00	23.50
07/05/19	BMK	Review various outstanding motions, including KEIP.	2.10	425.00	892.50
07/03/19	BMK	Review first day motions and draft objection.	1.70	425.00	722.50
07/08/19	BMK	Emails regarding DIP objection deadline and KEIP objection deadline.	0.30	425.00	127.50
07/11/19	BMK	Emails with paralegal regarding hearings.	0.40	425.00	170.00
07/11/19	JLD	Obtain order scheduling August-October omnibus hearing dates and update case folder.	0.40	235.00	23.50
07/12/19	EJM	Exchange emails with lenders and debtors re case budget.	0.50	525.00	262.50
07/12/19	EJM	Review agenda for July 16th hearing.	0.10	525.00	52.50
07/12/19	JLD	Obtain agenda re July 16 hearing, update case folder and email to E. Monzo and B. Keilson.	0.10	235.00	23.50
07/14/19	EJM	Exchange emails with professional re inventory levels.	0.20	525.00	105.00
07/15/19	EJM	Review amended agenda for hearing.	0.20	525.00	105.00
07/15/19	EJM	Review entered second day orders.	0.30	525.00	157.50
07/15/19	JLD	Obtain order establishing interim compensation procedures and update case folder.	0.10	235.00	23.50
07/15/19	JLD	Obtain order approving employee wages motion, order approving insurance motion and update case folder.	0.10	235.00	23.50
07/16/19	JLD	Obtain final cash management systems order, order re motion to make post-petition severance payments and order approving KERP motion and update case folder.	0.20	235.00	47.00
07/17/19	EJM	Call re case status.	0.30	525.00	157.50
07/17/19	EJM	Review agenda for hearing.	0.10	525.00	52.50
07/17/19	BMK	Review agenda for hearing.	0.10	425.00	42.50
07/17/19	JLD	Order transcript of July 16 hearing.	0.10	235.00	23.50
07/18/19	JLD	Obtain hearing transcript re July 16 hearing, update case	0.10	235.00	23.50
		folder and email to E. Monzo and B. Keilson.			
07/22/19	EJM	Review monthly operating report.	0.20	525.00	105.00
07/23/19	BMK	Review monthly operating report.	0.30	425.00	127.50
07/23/19	EJM	Discussion with J. Cohen re Gander reclamation and correspond with debtors re resolution.	0.50	525.00	262.50
07/23/19	EJM	Discussion with B. Keilson re Gander claim.	0.20	525.00	105.00
07/24/19	EJM	Review schedules.	0.40	525.00	210.00

Case 19-11299-LSS Doc 341-3 Filed 09/03/19 Page 8 of 21 August 20, 2019 Page 5

Date 07/24/19	Atty JLD	Description Obtain certification of counsel re August omnibus hearing	Hours 0.10	Rate 235.00	Amount 23.50
07/24/19	JLD	date, update case folder and calendar. Obtain order scheduling August omnibus hearing date and update case folder.	0.10	235.00	23.50
07/25/19 07/25/19	EJM JLD	Review agenda notice of hearing. Obtain agenda re July 29 hearing, update case folder and	0.10 0.10	525.00 235.00	52.50 23.50
07/26/19	ВМК	email to E. Monzo and B. Keilson. Emails with E. Monzo and Debtors' counsel regarding 341 meeting.	0.50	425.00	212.50
07/26/19 07/26/19	JLD JLD	Email IT re recordable CD for 341 meeting. Draft letter to United States Trustee's office re recording of	0.10 0.20	235.00 235.00	23.50 47.00
07/29/19	EJM	341 meeting. Coordinate internally re DIP bridge Order and rescheduled hearing; review COC and proposed form of Order.	0.20	525.00	105.00
07/29/19	JLD	Obtain amended agenda cancelling July 29 hearing, update case folder and calendar.	0.10	235.00	23.50
		Task Code Subtotal	38.70		17,905.50
B120 Asse	t Analysis a	and Recovery			
06/21/19	EJM	Review Delaware opinions re challenge of transaction.	1.20	525.00	630.00
06/25/19	EJM	Draft motion for alternative transaction.	2.60	525.00	1,365.00
06/25/19	EJM	Review and revised draft motion for authority to run a sale process.	1.40	525.00	735.00
06/25/19	EJM	Review and revise motion to shorten notice; call to Chambers.	1.00	525.00	525.00
06/26/19	EJM	Review US Trustee's objection to debtors' motion to shorten.	0.20	525.00	105.00
07/03/19 07/03/19	EJM EJM	Review Order authorizing sale process. Exchange emails with Committee professionals re sale process.	0.20 0.40	525.00 525.00	105.00 210.00
07/03/19	EJM	Exchange emails with co-counsel and financial advisor re sale process.	1.10	525.00	577.50
07/03/19	EJM	Exchange emails with debtors' counsel and committee professionals re NDA drafting.	0.20	525.00	105.00
07/16/19	EJM	Confer with Committee professionals re hearing preparation and strategy.	0.80	525.00	420.00
07/18/19	EJM	Review certification and draft form of order re sale process.	0.30	525.00	157.50
07/18/19	EJM	Emails re case and negotiation status.	0.40	525.00	210.00
07/24/19	EJM	Exchange emails with counsel re 2004 examinations emails internally re filing.	0.20	525.00	105.00
07/24/19	EJM	Review local rules re 2004 examination inquiry.	0.20	525.00	105.00
		Task Code Subtotal	10.20		5,355.00
B130 Asse	t Dispositio	n			
06/19/19	BMK	Emails with E. Monzo and co-counsel regarding sales process strategy.	0.30	425.00	127.50
06/20/19	BMK	Emails with co-counsel and Emerald regarding strategy and sale process and DIP motion and discuss with E. Monzo.	1.10	425.00	467.50
06/21/19	EJM	Review draft motion of committee re challenge to liquidation.	0.70	525.00	367.50

Case 19-11299-LSS Doc 341-3 Filed 09/03/19 Page 9 of 21 August 20, 2019 Page 6

Date 06/21/19	Atty BMK	Description Emails with co-counsel and E. Monzo and Emerald regarding strategy for motion for alternative sale process	Hours 1.10	Rate 425.00	Amount 467.50
06/23/19	EJM	and draft motion and next steps. Review draft declaration and motion to shorten re	0.50	525.00	262.50
06/23/19	BMK	challenge of liquidation. Emails with co-counsel regarding motions to be filed and strategy and calls scheduled.	0.50	425.00	212.50
06/24/19	ВМК	Emails regarding motion to authorize committee to run a going concern sale and review draft motion, motion to shorten and declaration in support and edit (2.1); discuss same with E. Monzo (0.7).	2.80	425.00	1,190.00
06/24/19	BMK	Emails with paralegal and E. Monzo regarding filing of motion.	0.40	425.00	170.00
06/24/19	EJM	Revisions to draft motion to support sale process or alternative to liquidation.	3.60	525.00	1,890.00
06/25/19	EJM	Review Madden declaration in support of motion for authorization for sale.	0.20	525.00	105.00
06/25/19	EJM	Draft and edit of motion to shorten notice and proposed order re motion for authorization of a sale.	0.50	525.00	262.50
06/25/19	EJM	Draft of proposed form of order re motion for authorization for sale.	0.40	525.00	210.00
06/25/19	ВМК	Emails with co-counsel and E. Monzo and paralegal regarding motion of committee to authorize alternative sales process and supplemental documents (0.9) and review draft motion and documents (1.8).	2.70	425.00	1,147.50
06/25/19	ВМК	Emails with co-counsel and E. Monzo and D. Buchbinder regarding motion to shorten notice for committee's motion for alternative sale process; review and edit motion to shorten.	1.10	425.00	467.50
06/26/19	EJM	Prepare for contested hearing on motion to authorize sale process.	1.40	525.00	735.00
06/26/19	BMK	Emails regarding Committee's motion, discovery requests, responses to requests (1.3); review committee motion and discuss strategy (1.4).	2.70	425.00	1,147.50
06/26/19	BMK	Emails regarding notice of motion of committee's motion and review same.	0.50	425.00	212.50
06/26/19	BMK	Speak with D. Buchbinder regarding Committee's motion and emails with co-counsel re same.	0.50	425.00	212.50
06/26/19	BMK	Emails with UST and Debtors' counsel regarding motion to shorten of Debtors.	0.40	425.00	170.00
06/27/19	BMK	Call with committee professionals regarding motion to run sale process.	0.50	425.00	212.50
06/28/19 06/28/19	EJM EJM	Review responses to motion to authorize sale process. Review debtors response to motion for authority to run	1.50 0.80	525.00 525.00	787.50 420.00
06/28/19	BMK	sale process. Review emails with co-counsel and Debtors' counsel regarding objections filed to Committee's motion regarding DIP and sale process and discuss with E. Monzo (1.1); review objections to motion and underlying motion (2.3).	3.40	425.00	1,445.00
07/01/19 07/02/19	EJM EJM	Review draft order resolving sale authorization motion. Review form of order and certification counsel re agreed	0.20 0.20	525.00 525.00	105.00 105.00
07/02/19	EJM	form of order to resolve motion to conduct sale process. Emails with co-counsel and all objecting parties to motion for authority to run sale process re proposed form of order.	0.40	525.00	210.00

Page	7

Date	Atty	Description	Hours	Rate	Amount
07/02/19	BMK	Emails with co-counsel and paralegal regarding proposed order on committee's motion to market assets (0.7);	1.20	425.00	510.00
07/03/19	BMK	review proposed order and updated drafts (0.5). Emails with co-counsel and Emerald regarding order on committee's motion to market assets and next steps.	1.70	425.00	722.50
07/03/19	BMK	Emails with paralegal regarding Court's order on committee's motion and review order.	0.40	425.00	170.00
07/15/19	EJM	Exchange emails with counsel to lenders and debtors and co-counsel re access and inventory.	1.10	525.00	577.50
07/15/19	EJM	Discussion with co-counsel re issues on accounting.	0.40	525.00	210.00
07/16/19	EJM	Discussions and emails with committee processionals re sale process.	1.80	525.00	945.00
07/16/19	EJM	Review and edits to draft motion to enforce sale agreement.	3.50	525.00	1,837.50
07/16/19	EJM	Review and of draft motion to enforce sale order and supporting documents.	1.60	525.00	840.00
07/16/19	EJM	Review and edits to draft motion to enforce sale agreement order.	3.10	525.00	1,627.50
07/16/19	EJM	Review order re motion prohibiting sales.	0.20	525.00	105.00
07/16/19	JLD	Draft notice of motion re motion to enforce stipulated sale	6.50	235.00	1,527.50
		order and email to E. Monzo (.3); review and revise			
		motion to enforce (1.3); revise declarations in support and proposed order (1.1); confer with M. MacDonald and E.			
		Monzo re filing (.5); prepare for filing (2.5); file and serve			
		motion to enforce (.6); update case folder and calendar			
		objection deadline (.1); email motion to J. Cohen, E.			
		Chafetz and M. MacDonald (.1).			
07/17/19	BMK	Call with committee professionals and Debtors'	0.20	425.00	85.00
		professionals regarding motion to enforce sale order.			
07/17/19	EJM	Emails re proposed resolution of contested sale issues.	1.10	525.00	577.50
07/17/19	EJM	Discussions re debtors' offer to resolve sale objection.	0.20	525.00	105.00
07/17/19	JLD	Draft affidavit of service re motion to enforce (.2); obtain	0.50	235.00	117.50
		recently filed entries of appearance and update case			
		folder and service list (.2); file affidavit of service and			
07/47/40		update case folder (.1).	0.00	005.00	400.00
07/17/19	JLD	Draft notice of filing of amended exhibit b to Emerald's	0.80	235.00	188.00
		retention application and email to E. Monzo and B. Keilson (.4); revise exhibit b (.1); file and serve notice of			
		amended exhibit B and update case folder (.3).			
07/25/19	JLD	Obtain debtors' motion to approve sale of assets of Evans	0.20	235.00	47.00
01720710	OLD	Sports and debtors' motion to approve bid procedures re	0.20	200.00	17.00
		sale of Bellefontaine Facility and update case folder.			
		Task Code Subtotal	52.90		23,302.50
B150 Meet	tings/Comr	nunications with Committee and/or Creditors			
06/18/19	EJM	Email with committee members re initial case status and	0.20	525.00	105.00
		introduction.			
06/20/19	EJM	Initial call with Committee members.	0.60	525.00	315.00
06/20/19	BMK	Emails with co-counsel, Emerald and committee members	0.40	425.00	170.00
00/04/40	DIA	regarding updates.	4.00	405.00	E40.00
06/21/19	BMK	Various emails with co-counsel and committee members	1.20	425.00	510.00
		regarding strategy and committee motion and proposed			
06/21/19	BMK	committee call and Emerald analysis. Emails with co-counsel and committee and E. Monzo	0.60	425.00	255.00
				0.00	200.00

Date	Atty	Description and part stand	Hours	Rate	Amount
00/07/40	DMALC	regarding strategy and next steps.	0.50	405.00	040.50
06/27/19	BMK	Call with committee regarding motion to run sale procedure and upcoming hearing.	0.50	425.00	212.50
06/27/19	EJM	Attend call with Committee re motion to authorize sale process and object to DIP.	0.30	525.00	157.50
06/30/19	EJM	Emails with committee and co-counsel re status is emergency motion.	0.30	525.00	157.50
07/01/19	BMK	Emails with co-counsel and committee regarding hearing.	0.40	425.00	170.00
07/03/19	EJM	Exchange emails with co-counsel and committee re case status.	0.30	525.00	157.50
07/03/19	BMK	Emails with committee regarding open issues on KERP/KEIP and other issues and by-laws and review NDA, by-laws and KEIP/KERP.	1.10	425.00	467.50
07/08/19	EJM	Correspond work co-counsel re analysis and review of first day papers.	0.50	525.00	262.50
07/08/19	EJM	Exchange emails with committee counsel and clients re case status.	0.30	525.00	157.50
07/08/19	EJM	Review analysis re pending litigation.	0.40	525.00	210.00
07/08/19	BMK	Emails with committee regarding South Carolina action by Propect and review memo.	0.70	425.00	297.50
07/08/19	BMK	Emails with committee regarding first day motions and DIP issues and review analysis.	0.40	425.00	170.00
07/09/19	BMK	Call with committee and professionals regarding status of open motions and issues.	1.00	425.00	425.00
07/09/19	EJM	Discussion with advisors and committee re case status.	0.80	525.00	420.00
07/09/19	BMK	Standing call with committee.	0.50	425.00	212.50
07/12/19	EJM	Exchange emails with clients re case status.	0.20	525.00	105.00
07/12/19	BMK	Emails with committee regarding DIP objection and open issues.	0.30	425.00	127.50
07/15/19	EJM	Emails with Committee professional re heading strategy.	0.40	525.00	210.00
07/15/19	EJM	Telephone conference with committee professionals re case status and issues.	0.50	525.00	262.50
07/17/19	BMK	Call with committee regarding going concern sale and strategy.	0.50	425.00	212.50
07/17/19	BMK	Emails with committee regarding motion to enforce sale stipulation and review attachments.	0.40	425.00	170.00
07/18/19	BMK	Emails with co-counsel and professionals and committee members regarding status of committee's motion to enforce order and ultimate resolution and review drafts of order.	1.90	425.00	807.50
07/20/19	EJM	Exchange emails with co-counsel and client re inventory inquiry.	0.30	525.00	157.50
07/20/19	BMK	Review emails to committee members regarding inventory and review attachment.	0.40	425.00	170.00
07/25/19	EJM	Attend weekly committee call with status report.	0.60	525.00	315.00
07/25/19	BMK	Standing committee call and emails with committee regarding open issues.	0.70	425.00	297.50
07/31/19	BMK	Emails with committee regarding cash collateral negotiations.	0.30	425.00	127.50
07/31/19	EJM	Review emails with co-counsel re status.	0.20	525.00	105.00
07/31/19	EJM	Discussion re case status.	0.20	525.00	105.00
		Task Code Subtotal	17.40		8,005.00

B160 Retention Applications (MJ)

Page !	9
--------	---

Date 06/20/19	Atty JLD	Description Calendar deadline to file committee retention applications.	Hours 0.10	Rate 235.00	Amount 23.50
06/21/19	BMK	Emails with paralegal and E. Monzo regarding retention application; review and edit retention application and related documents.	1.80	425.00	765.00
06/21/19	JLD	Draft retention application and circulate to E. Monzo and B. Keilson.	0.90	235.00	211.50
07/02/19	EJM	Review supplemental results re disclosures.	1.10	525.00	577.50
07/02/19	BMK	Draft, review and edit MJ retention application and related documents (1.4); emails with paralegal and Committee chair and E. Monzo re same (0.9).	2.30	425.00	977.50
07/02/19	BMK	Emails regarding retention applications of professions and review applications and communications from committee chair.	1.10	425.00	467.50
07/02/19	JLD	Review and revise Morris James' retention application and declaration in support (.2); prepare for filing (.1).	0.30	235.00	70.50
07/03/19	EJM	Draft of declaration in support of retention.	1.80	525.00	945.00
07/03/19	BMK	Emails with paralegal regarding Morris James retention application and review and edit application and related documents.	2.10	425.00	892.50
07/03/19	JLD	File and serve Morris James' retention application (.4); calendar objection deadline and hearing date and email to E. Monzo and B. Keilson (.2); draft affidavit of service re retention application and file (.2).	0.80	235.00	188.00
07/25/19	JLD	Draft certificate of no objection re Morris James' retention application and circulate to E. Monzo and B. Keilson.	0.20	235.00	47.00
07/29/19	JLD	Revise certificate of no objection regarding Morris James' retention application and draft affidavit of service re same (.1) file and serve certificate of no objection and forward to	0.30	235.00	70.50
		chambers (.2).			
			12.80		5,236.00
B165 Rete	ntion Appl	chambers (.2).	12.80		5,236.00
B165 Rete 07/02/19	ntion Appl BMK	chambers (.2). Task Code Subtotal ications (Others) Various communications with E. Monzo, paralegal and co- counsel regarding co-counsel and Emerald retention	12.80 0.80	425.00	5,236.00 340.00
07/02/19	BMK EJM	chambers (.2). Task Code Subtotal ications (Others) Various communications with E. Monzo, paralegal and cocunsel regarding co-counsel and Emerald retention applications. Review co-counsel's retention application.	0.80	525.00	340.00 157.50
07/02/19	BMK	chambers (.2). Task Code Subtotal ications (Others) Various communications with E. Monzo, paralegal and cocunsel regarding co-counsel and Emerald retention applications.	0.80		340.00
07/02/19	BMK EJM	chambers (.2). Task Code Subtotal ications (Others) Various communications with E. Monzo, paralegal and cocounsel regarding co-counsel and Emerald retention applications. Review co-counsel's retention application. Emails and speak with co-counsel regarding Lowenstein retention application and	0.80	525.00	340.00 157.50
07/02/19 07/03/19 07/03/19	BMK EJM BMK	chambers (.2). Task Code Subtotal ications (Others) Various communications with E. Monzo, paralegal and cocounsel regarding co-counsel and Emerald retention applications. Review co-counsel's retention application. Emails and speak with co-counsel regarding Lowenstein retention application and related documents. Emails with paralegal, co-counsel and Emerald regarding	0.80 0.30 1.90	525.00 425.00	340.00 157.50 807.50
07/02/19 07/03/19 07/03/19	EJM BMK BMK	chambers (.2). Task Code Subtotal ications (Others) Various communications with E. Monzo, paralegal and cocunsel regarding co-counsel and Emerald retention applications. Review co-counsel's retention application. Emails and speak with co-counsel regarding Lowenstein retention application and review and edit application and related documents. Emails with paralegal, co-counsel and Emerald regarding Emerald retention application. Emails with co-counsel and UST regarding Emerald	0.80 0.30 1.90 0.90	525.00 425.00 425.00	340.00 157.50 807.50 382.50
07/02/19 07/03/19 07/03/19 07/03/19	EJM BMK BMK BMK	chambers (.2). Task Code Subtotal ications (Others) Various communications with E. Monzo, paralegal and cocounsel regarding co-counsel and Emerald retention applications. Review co-counsel's retention application. Emails and speak with co-counsel regarding Lowenstein retention application and review and edit application and related documents. Emails with paralegal, co-counsel and Emerald regarding Emerald retention application. Emails with co-counsel and UST regarding Emerald retention and updates. Emails with co-counsel, paralegal and Emerald regarding	0.80 0.30 1.90 0.90 0.50	525.00 425.00 425.00 425.00	340.00 157.50 807.50 382.50 212.50
07/02/19 07/03/19 07/03/19 07/03/19 07/10/19 07/11/19 07/15/19 07/17/19	BMK EJM BMK BMK BMK BMK BMK	tractions (Others) Various communications with E. Monzo, paralegal and cocounsel regarding co-counsel and Emerald retention applications. Review co-counsel's retention application. Emails and speak with co-counsel regarding Lowenstein retention application and review and edit application and related documents. Emails with paralegal, co-counsel and Emerald regarding Emerald retention application. Emails with co-counsel and UST regarding Emerald retention and updates. Emails with co-counsel, paralegal and Emerald regarding Emerald retention application. Emails with team regarding Emerald retention application (0.4); review Emerald retention documents (0.5). Exchange emails with Emerald and review of application re retention.	0.80 0.30 1.90 0.90 0.50 0.50 0.90 0.30	525.00 425.00 425.00 425.00 425.00 425.00 525.00	340.00 157.50 807.50 382.50 212.50 212.50 382.50 157.50
07/02/19 07/03/19 07/03/19 07/03/19 07/10/19 07/11/19	EJM BMK BMK BMK BMK BMK	chambers (.2). Task Code Subtotal ications (Others) Various communications with E. Monzo, paralegal and cocounsel regarding co-counsel and Emerald retention applications. Review co-counsel's retention application. Emails and speak with co-counsel regarding Lowenstein retention application and review and edit application and related documents. Emails with paralegal, co-counsel and Emerald regarding Emerald retention application. Emails with co-counsel and UST regarding Emerald retention and updates. Emails with co-counsel, paralegal and Emerald regarding Emerald retention application. Emails with team regarding Emerald retention application (0.4); review Emerald retention documents (0.5). Exchange emails with Emerald and review of application	0.80 0.30 1.90 0.90 0.50 0.50 0.90	525.00 425.00 425.00 425.00 425.00 425.00	340.00 157.50 807.50 382.50 212.50 212.50 382.50

Matter Number: 133828-0001 Doc 341-3 Filed 09/03/19 Page 13 of 21 August 20, 2019
Page 10

Date	Atty	Description	Hours	Rate	Amount
07/22/19	EJM	Review emails and revised form of order re Emerald retention.	0.20	525.00	105.00
07/23/19	BMK	Emails with UST and counsel regarding Emerald order approving retention.	0.30	425.00	127.50
07/24/19	BMK	Emails with UST regarding retention of Emerald.	0.20	425.00	85.00
		Task Code Subtotal	9.80		4,245.00
B170 Fee A	Applications	(LM)			
07/19/19	ВМК	Review bill and finalize for preparation of fee application and email with E. Monzo re same.	1.10	425.00	467.50
		Task Code Subtotal	1.10		467.50
B175 Fee A	Applications	(Others)			
07/01/19	JLD	Obtain declaration of D. Edgecomb in support of debtors' applications to retain McDermott Emery and Polsinelli as counsel and update case folder.	0.10	235.00	23.50
07/23/19	BMK	Review Debtors' counsel's fee application.	0.90	425.00	382.50
07/23/19	JLD	Obtain Polsinelli's first monthly fee application and update case folder.	0.10	235.00	23.50
07/25/19	BMK	Emails with paralegal and E. Monzo and co-counsel regarding fee applications and certificates of no objection and review same.	0.90	425.00	382.50
07/25/19	BMK	Review fee application of Debtors' co-counsel.	0.70	425.00	297.50
07/25/19	JLD	Obtain McDermott Will & Emery's first monthly fee application and update case folder.	0.10	235.00	23.50
07/29/19	BMK	Emails with paralegal regarding certificates of no objection for fee applications.	0.30	425.00	127.50
		Task Code Subtotal	3.10		1,260.50
B175A Fee	Application	ns (Others - Objections)			
07/03/19	JLD	Obtain first supplemental declaration of C. Ward in support of retention of Polsinelli and update case folder.	0.10	235.00	23.50
07/03/19	JLD	Review and revise Lowenstein's retention application, declaration in support of same and proposed order.	0.30	235.00	70.50
07/03/19	JLD	Prepare for service of retention applications.	0.20	235.00	47.00
07/03/19	JLD	Draft notice of motion re Lowenstein's retention application and prepare exhibits for filing.	0.20	235.00	47.00
07/03/19	JLD	File and serve Lowenstein's retention application (.4); calendar objection deadline and hearing date and email to J. Cohen and E. Chafetz (.2); draft affidavit of service re retention application and file (.2).	0.80	235.00	188.00
07/15/19	JLD	Obtain order authorizing retention of Winter Harbor as CRO, order authorizing retention of Polsinelli as counsel to debtors, order authorizing retention of McDermott Will & Emery as counsel to the debtors and update case folder.	0.10	235.00	23.50
07/16/19	JLD	Obtain debtors' application to retain BMC Group as administrative advisor and update case folder.	0.10	235.00	23.50
07/17/19	JLD	Review and revise Emerald's retention application (.3); draft notice and affidavit of service re same (.3); file and serve Emerald's retention application (.5); update case folder and calendar objection deadline and hearing date (.1); email to R. Feulner, C. Saitta, R. Hudson, M. Blank,	1.30	235.00	305.50

Page	1	1

Date	Atty	Description	Hours	Rate	Amount
2410	,y	J. Madden, M. MacDonald and E. Chafetz (.1).	110410	11410	, .
07/25/19	JLD	Draft certificate of no objection re Lowenstein Sandler's retention application and circulate to E. Monzo and B. Keilson.	0.20	235.00	47.00
07/25/19	JLD	Revise certificate of no objection re Lowenstein Sandler's retention application.	0.10	235.00	23.50
07/25/19	JLD	Email certificate of no objection re Lowenstein Sander's retention application to J. Cohen, E. Chafetz and G. Olivera.	0.10	235.00	23.50
07/25/19	JLD	Obtain debtors' application to retain CBRE as real estate broker and update case folder.	0.10	235.00	23.50
07/29/19	JLD	Revise certificate of no objection regarding Lowenstein's retention application and draft affidavit of service re same (.1) file and serve certificate of no objection and forward to chambers (.2).	0.30	235.00	70.50
		Task Code Subtotal	3.90		916.50
B190 Othe 06/20/19	r Conteste BMK	d Matters (excluding assumption/rejection motions) Emails and speak with Debtors' counsel and E. Monzo and co-counsel regarding Debtors' motions for KEIP/KERP/Severance and strategy.	0.90	425.00	382.50
06/25/19	BMK	Emails regarding KEIP, KERP and Severance motions and review motions and discuss.	2.20	425.00	935.00
06/25/19	JLD	Review and revise motion for alternate sale process, declaration in support and motion to shorten re same (.5); review and review proposed orders re motion for alternate sale process and motion to shorten (.2).	0.70	235.00	164.50
06/25/19	JLD	Telephone call from E. Monzo re service of motion for alternate sale process (.1); obtain 2002 service list and revise (.3); draft affidavit of service re motion for alternate sale process and motion to shorten re same (.2); prepare for filing (.1); file motion for alternate sale process (.1); revise motion to shorten and file (.1); forward pleadings to chambers (.1); serve pleadings, update case folder and email to E. Chafetz (.3).	1.30	235.00	305.50
06/26/19	JLD	Obtain United States Trustee's objection to debtors' motion to shorten re key incentive motion, key employee retention motion and severance payments motion and update case folder.	0.10	235.00	23.50
06/26/19	JLD	Obtain order granting motion to shorten re Committee's motion for alternate sale process and update case folder; (.1) email to E. Chafetz and calendar objection deadline and hearing date (.1).	0.20	235.00	47.00
06/26/19	JLD	Serve order granting motion to shorten re Committee's motion for alternate sale process.	0.30	235.00	70.50
06/26/19	JLD	Obtain order denying debtors' motion to shorten re key incentive motion, key employee retention motion and severance payment motion and update case folder.	0.10	235.00	23.50
06/26/19	JLD	Draft notice of motion re Committee's motion for alternate sale process and circulate to E. Monzo and B. Keilson.	0.20	235.00	47.00
06/26/19	JLD	Prepare for service of notice of motion re Committee's motion for alternate sale process (.3); draft affidavit of service re motion, order granting motion to shorten and notice of motion (.2); file and serve notice of motion and	1.80	235.00	423.00

Matter Number: 133828-0001 Doc 341-3 Filed 09/03/19 Page 15 of 21 August 20, 2019
Page 12

Date	Atty	Description (111)	Hours	Rate	Amount
06/26/19	JLD	update case folder (1.3). Draft affidavit of service re Committee's motion for	0.20	235.00	47.00
00/20/19	JLD	alternate sale process and motion to shorten re same	0.20	233.00	47.00
		(served June 25) (.1); file affidavit of service and update			
		case folder (.1).			
06/27/19	JLD	Draft amended notice of motion re Committee's motion for	0.80	235.00	188.00
		alternate sale process and email draft to E. Monzo (.2);			
		update calendar re new hearing time and draft affidavit of			
		service re notice of motion (.2); file and serve amended			
07/04/40	DMIZ	notice of motion (.4).	2.00	405.00	4 075 00
07/01/19	BMK	Meeting with co-counsel and Emerald to prepare for hearing on committee's motion.	3.00	425.00	1,275.00
07/01/19	BMK	Prepare for and attend hearing on committee's motion to	1.00	425.00	425.00
01/01/13	DIVIIX	conduct sale process.	1.00	720.00	420.00
07/01/19	BMK	Draft and revise order resolving committee's motion to	1.70	425.00	722.50
		conduct sale process and emails with co-counsel and			
		estate parties regarding same.			
07/02/19	BMK	Various communications with Debtors' counsel and co-	1.20	425.00	510.00
		counsel and other professionals regarding negotiations			
07/02/40	11.0	and sale of assets.	0.20	225.00	70.50
07/02/19	JLD	Draft certification of counsel re proposed order re committee's motion for alternate sale process and email	0.30	235.00	70.50
		draft to B. Keilson.			
07/02/19	JLD	Revise certification of counsel (.1); confer with E. Monzo	0.60	235.00	141.00
0170=710		and B. Keilson re revisions (.1); revise proposed order	0.00		
		(.1); file certification of counsel and upload order (.2);			
		forward to chambers and email to opposing counsel (.1).			
07/02/19	JLD	Obtain notice of motion re KERP motion, severance	0.10	235.00	23.50
		payments motion and KEIP motion, update case folder			
07/03/19	JLD	and calendar deadlines.	0.10	235.00	23.50
07/03/19	JLD	Obtain supplemental declaration of D. Edgecomb in support of KERP motion, KEIP motion and severance	0.10	233.00	23.50
		payments motion and update case folder.			
07/03/19	JLD	Obtain order resolving committee's motion for alternate	0.10	235.00	23.50
		sale process, update case folder and email to J. Cohen			
		and E. Chafetz.			
07/10/19	BMK	Emails with co-counsel and UST regarding KEIP	0.30	425.00	127.50
07/44/40	DIAIA	resolution.	0.50	405.00	040.50
07/11/19	BMK	Review notice of revised exhibit to KEIP and review	0.50	425.00	212.50
07/16/19	BMK	exhibit. Emails with paralegal and E. Monzo regarding	0.40	425.00	170.00
07/10/19	DIVIT	committee's motion to enforce sale order.	0.40	423.00	170.00
07/17/19	BMK	Review committee's motion to enforce sale order.	0.40	425.00	170.00
07/17/19	BMK	Emails with co-counsel regarding order resolving motion	1.30	425.00	552.50
		to enforce sale order and review draft order.			
07/18/19	BMK	Communications with Debtors' counsel and UST	0.60	425.00	255.00
0=/40/40	51417	regarding Committee's motion to enforce order.		40= 00	
07/18/19	BMK	Various emails with committee professionals regarding	0.60	425.00	255.00
07/18/19	BMK	inventory levels and related issues. Review transcript of July 16, 2019 hearing.	0.90	425.00	382.50
07/18/19	JLD	Draft certification of counsel re consent order granting	0.60	235.00	141.00
37/10/13	020	committee's motion to enforce stipulated sale order (.3);	0.00	200.00	1-71.00
		file and serve (.2); upload order and forward to chambers			
		(.1).			
07/18/19	JLD	Obtain consent order, update case folder and email to J.	0.10	235.00	23.50

Matter Number: 133828-0001 Doc 341-3 Filed 09/03/19 Page 16 of 21 August 20, 2019

Page	13

Date	Atty	Description	Hours	Rate	Amount
07/00/40	DMI	Cohen, E. Chafetz and M. MacDonald.	4.00	405.00	007.50
07/23/19	BMK	Emails with Debtors' counsel regarding settlement of Debtor's claim in Gander Mountain bankruptcy (0.6);	1.90	425.00	807.50
		review documentation and perform due diligence (1.3).			
07/24/19	BMK	Emails with co-counsel and E. Monzo regarding 2004	1.00	425.00	425.00
017= 17 10		motions and procedure and strategy.		0.00	0.00
07/24/19	BMK	Review information regarding claim in Gander Mountain	1.10	425.00	467.50
		bankruptcy and emails with Debtors' counsel regarding			
		same.			
07/26/19	JLD	Review and revise rule 2004 motions and exhibits	3.00	235.00	705.00
		directed to debtors and Wellspring (1.0); review and			
		revise motion to shorten re rule 2004 motions (.4); prepare for filing (.5); confer with E. Monzo re service (.1);			
		revise motions (.4); file and serve rule 2004 motion			
		directed to debtors, rule 2004 motion directed to			
		Wellspring and motion to shorten re 2004 motions (.5);			
		update case folder and email to J. Cohen, E. Chafetz and			
		M. Kaplan (.1).			
07/26/19	BMK	Emails with Trustee's counsel regarding Ellett's claim in	0.50	425.00	212.50
07/00/40	DMIZ	Gander Mountain.	0.40	405.00	470.00
07/26/19	BMK	Emails with UST and co-counsel regarding motion to shorten time on 2004 exam motions.	0.40	425.00	170.00
07/26/19	BMK	Emails and speak with with co-counsel, E. Monzo and	3.30	425.00	1,402.50
01720710	Divire	paralegal regarding motions to conduct 2004	0.00	120.00	1,102.00
		examinations (1.3); review and edit motions to conduct			
		2004 examinations and finalize for filing (1.4); review and			
		edit motion to shorten with regard to motions to conduct			
0=/00/40	5144	2004 examinations (0.6).	0.40	40= 00	4=0.00
07/29/19	BMK	Emails with co-counsel regarding Wellspring objection to	0.40	425.00	170.00
07/29/19	JLD	motion to shorten and review objection. Draft affidavit of service re 2004 motions directed to	0.30	235.00	70.50
01/23/13	JLD	debtors and Wellspring and motion to shorten (.1); file	0.50	233.00	70.50
		affidavit of service and update case folder (.2).			
07/29/19	JLD	Obtain Wellspring defendants' objection to committee's	0.10	235.00	23.50
		motion to shorten re rule 2004 motion, update case folder			
		and email to J. Cohen, E. Chafetz and M. Kaplan.			
07/30/19	BMK	Emails with paralegal and co-counsel regarding order on	0.70	425.00	297.50
		2004 exam motions; emails with Court regarding objection			
07/30/19	BMK	deadline error. Review spreadsheet regarding Ellett's claim in Gander	0.50	425.00	212.50
07/30/19	DIVIN	bankruptcy and call with Trustee's counsel regarding	0.50	423.00	212.50
		same.			
07/30/19	JLD	Obtain order (with revisions) re committee's motion to	0.20	235.00	47.00
		shorten re rule 2004 motion, update case folder and email			
		to J. Cohen, E. Chafetz and M. Kaplan (.1); calendar			
07/00/40		objection deadline and hearing date (.1).	0.40	005.00	00.50
07/30/19	JLD	Obtain corrected order re motion to shorten re rule 2004	0.10	235.00	23.50
		motions, update case folder and email to J. Cohen, E. Chafetz and M. Kaplan.			
07/31/19	BMK	Emails with committee and co-counsel regarding 2004	0.40	425.00	170.00
5.75.710		motions and strategy.	0.10	0.00	3.00
07/31/19	BMK	Emails with Debtors' counsel regarding Gander Mountain	0.40	425.00	170.00
		claim.			
		T 10 10 11 11 11			40
		Task Code Subtotal	36.90		13,535.50

Matter Number: 133828-0001 Doc 341-3 Filed 09/03/19 Page 17 of 21 August 20, 2019
Page 14

				Amount
B196 Litigation				
07/25/19 EJM	Discussion with M. Kaplan re 2004 examination motions.	0.10	525.00	52.50
07/25/19 EJM	Exchange emails with co-counsel re 2004 examination motions and review local rules.	0.40	525.00	210.00
07/25/19 EJM	Exchange emails with counsel to Debtors and Wellspring re 2004 motions.	0.20	525.00	105.00
07/25/19 EJM	Exchange emails with co-counsel re draft 2004 examination motions.	0.70	525.00	367.50
07/25/19 EJM	Review draft 2004 motion template and correspond with co-counsel.	1.10	525.00	577.50
07/26/19 EJM	Emails and discussions re 2004 examination motions.	1.40	525.00	735.00
07/26/19 EJM	Review draft 2004 examinations and exhibits.	1.50	525.00	787.50
07/26/19 EJM	Review motion to shorten notice re 2004 exam motions.	0.30	525.00	157.50
07/29/19 EJM	Review opposition to motion to shorten notice of Wellspring; emails with co-counsel.	0.30	525.00	157.50
07/30/19 EJM	Review Order denying motion to shorten notice and schedule hearing; confer with co-counsel.	0.30	525.00	157.50
	Task Code Subtotal	6.30		3,307.50
B210 Business Operati	ons			
06/26/19 JLD	Obtain debtors' initial monthly operating report and update case folder.	0.10	235.00	23.50
06/28/19 WWW	Obtain and update sale case folder with senior lenders' objection to Committee's motion for alternate sale process.	0.10	245.00	24.50
06/28/19 WWW	Obtain and forward to co-counsel re 2L Group's limited objection to Committee's motion for alternate sale	0.20	245.00	49.00
06/28/19 WWW	obtain and forward to co-counsel re debtors' objection to Committee's motion for alternate sale process, and amended agenda for July 1, 2019 hearing (.2); update	0.30	245.00	73.50
07/23/19 JLD	sale case folder re same (.1). Obtain debtors' monthly operating report re June 2019 and update case folder.	0.10	235.00	23.50
07/25/19 JLD	Obtain schedules and statements of financial affairs re all debtors and update case folder.	0.30	235.00	70.50
	Task Code Subtotal	1.10		264.50
B220 Employee Benefit	ts/Pensions			
06/26/19 EJM	Review Order denying motion to shorten notice of debtors re employment.	0.10	525.00	52.50
07/03/19 EJM	Review declaration in support of KERP motion.	0.30	525.00	157.50
07/11/19 EJM	Review notice withdrawing KEIP motion.	0.10	525.00	52.50
07/11/19 EJM	Review exhibit supporting KERP application.	0.20	525.00	105.00
07/12/19 EJM	Review draft response to DIP financing; correspond with B. Keilson and J. Dawson re filing strategy.	0.90	525.00	472.50
	Task Code Subtotal	1.60		840.00
B230 Financing/Cash C	Collateral			
06/18/19 BMK	Call with Debtors' counsel regarding highlights and next steps.	0.50	425.00	212.50

Matter Number: 133828-0001 Doc 341-3 Filed 09/03/19 Page 18 of 21 August 20, 2019
Page 15

Date	Atty	Description	Hours	Rate	Amount
06/20/19	BMK	Call with committee members regarding DIP and issues.	0.80	425.00	340.00
06/20/19	EJM	Emails with debtors re DIP financing concerns.	0.20	525.00	105.00
06/27/19	EJM	Discussion with co-counsel and financial advisor of	0.50	525.00	262.50
00/27/13	LOW	Committee; call from Court re Motion for authority to run sale process.	0.50	020.00	202.50
07/01/19	EJM	Meeting with committee professionals re hearing preparation and strategy.	1.70	525.00	892.50
07/03/19	EJM	Exchange emails with counsel to lender and co-counsel re DIP issues.	0.20	525.00	105.00
07/07/19	BMK	Emails with committee professionals and Debtors' counsel regarding DIP and open issues.	0.30	425.00	127.50
07/08/19	EJM	Review draft committee objection to DIP financing.	0.70	525.00	367.50
07/09/19	JLD	Update calendar re committee's extended deadline to	0.10	235.00	23.50
		object to DIP motion and KEIP motion.			
07/12/19	EJM	Exchange emails with counsel re DIP issues and concerns; strategy on filing response.	1.10	525.00	577.50
07/12/19	BMK	Emails and discussions with co-counsel, E. Monzo,	2.70	425.00	1,147.50
• • • • • • • • • • • • • • • • • • • •		paralegal and counsel for Debtors regarding outstanding DIP issues, related budget issues and agenda for DIP hearing.			,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,
07/12/19	BMK	Emails with co-counsel and E. Monzo regarding status of inventory levels and strategy.	1.60	425.00	680.00
07/12/19	BMK	Emails and speak with co-counsel regarding DIP objection (0.6); emails with paralegal and E. Monzo regarding DIP objection (0.5); review DIP objection (0.4).	1.50	425.00	637.50
07/12/19	BMK	Emails regarding schedules to DIP Agreement and review schedules.	0.80	425.00	340.00
07/12/19	JLD	Review and revise objection to DIP motion (.2); file and serve objection to DIP motion (.3).	0.50	235.00	117.50
07/13/19	BMK	Emails with co-counsel and other counsel regarding budget and inventory.	0.70	425.00	297.50
07/14/19	BMK	Emails with co-counsel and Emerald team regarding inventory levels and DIP issues.	0.70	425.00	297.50
07/15/19	EJM	Review and edit draft supplemental objection to DIP financing motion.	0.90	525.00	472.50
07/15/19	EJM	Review form of bridge order re financing.	0.60	525.00	315.00
07/15/19	EJM	Review and edit draft supplemental objection to DIP financing.	1.10	525.00	577.50
07/15/19	BMK	Review emails and invoices from lenders' counsel.	0.40	425.00	170.00
07/15/19	ВМК	Emails with co-counsel and Emerald team regarding inventory levels and open issues with regard to DIP and strategy (0.8); emails regarding supplemental objection to DIP (0.7); review and edit supplemental DIP objection (0.6).	2.10	425.00	892.50
07/15/19	BMK	Emails regarding draft bridge DIP order.	0.40	425.00	170.00
07/15/19	JLD	Obtain DIP motion, interim DIP order, Second Priority Agent's limited objection to DIP, debtors' omnibus	0.20	235.00	47.00
07/15/19	JLD	response to DIP objections and update case folder. Review and revise supplemental objection to DIP (.3); prepare for filing (.1); file and serve supplemental objection (.2); update case folder and email to J. Cohen,	0.70	235.00	164.50
07/16/19	EJM	E. Chafetz and M. MacDonald (.1). Attend court hearing on DIP motion and status on pending sale issues.	1.50	525.00	787.50
07/16/19	EJM	Discussion with opposing counsel re forms of DIP order	0.30	525.00	157.50

Date	Atty	Description	Hours	Rate	Amount
07/16/19	BMK	and case status. Emails with co-counsel and committee regarding	0.40	425.00	170.00
		supplemental DIP objection and DIP hearing.			
07/16/19	BMK	Emails with Debtors' counsel and other professionals regarding proposed budget to DIP and comments thereto	2.10	425.00	892.50
		(1.8); and proposed DIP bridge order (0.3).			
07/16/19	JLD	Obtain debtors' response to supplemental objection of	0.20	235.00	47.00
		committee, update case folder and hearing binder (.1); forward copies to E. Monzo for hearing (.1).			
07/16/19	JLD	Draft affidavit of service re supplemental objection to DIP	0.20	235.00	47.00
		motion (.1): file affidavit of service and update case folder			
07/40/40	II D	(.1).	0.40	225.00	22.50
07/16/19 07/16/19	JLD JLD	Calendar final DIP hearing. Obtain certification of counsel re bridge order re DIP	0.10 0.10	235.00 235.00	23.50 23.50
07/10/19	JLD	motion and update case folder.	0.10	233.00	23.50
07/16/19	JLD	Obtain bridge order amending Court's interim DIP order	0.10	235.00	23.50
07/00/40	= 13.4	and update case folder.	0.00	505.00	405.00
07/28/19 07/28/19	EJM BMK	Discussion with co-counsel re DIP hearing and status.	0.20 0.80	525.00 425.00	105.00 340.00
07/20/19	DIVIN	Emails with E. Monzo and co-counsel regarding DIP hearing and updates.	0.60	425.00	340.00
07/29/19	BMK	Emails with co-counsel and all other parties regarding	1.90	425.00	807.50
		bridge DIP order (1.3); review bridge order (0.6).			
07/29/19	EJM	Exchange emails with co-counsel and counsel to core	0.30	525.00	157.50
07/29/19	EJM	group re bridge order. Review proposed form of order and certification of	0.20	525.00	105.00
017207.0	_•	counsel.	0.20	0_0.00	
07/29/19	JLD	Obtain certification of counsel re final DIP order and	0.10	235.00	23.50
07/29/19	JLD	update case folder. Obtain second bridge order amending interim DIP order,	0.10	235.00	23.50
01/29/19	JLD	update case folder and email to E. Chafetz and J. Cohen.	0.10	200.00	23.30
		·			
		Task Code Subtotal	29.60		13,074.00
B430A Co	urt Hearing	s: Attendance and Preparation			
07/01/19	JLD	Prepare pleadings/documents for July 1 hearing (1.0);	1.10	235.00	258.50
		obtain amended agenda re July 1 hearing and update			
07/15/19	JLD	case folder (.1). Create hearing binder re July 16 hearing.	0.60	235.00	141.00
07/15/19	JLD	Obtain amended agenda re July 16 hearing, update case	0.00	235.00	23.50
01710710	025	folder and hearing binder.	0.10	200.00	20.00
07/16/19	JLD	Obtain second amended agenda re July 16 hearing and	0.20	235.00	47.00
		update case folder (.1); forward copies to E. Monzo for			
07/17/19	JLD	hearing (.1). Obtain agenda re July 19 hearing, update case folder and	0.10	235.00	23.50
31,11,10	ŲD	email to E. Monzo and B. Keilson.	0.10	_55.00	20.00
07/19/19	JLD	Obtain amended agenda cancelling July 19 hearing,	0.10	235.00	23.50
		update case folder and calendar.			
		Task Code Subtotal	2.20		517.00
				_	

Sub-Total Fees:

98,232.00

Case 19-11299-LSS Doc 341-3 Filed 09/03/19 Page 20 of 21 August 20, 2019
Page 17

Disbursements		
Date	Description	Amount
	Postage	277.50
	Reproduction	401.85
07/01/19	Urban Cafe - Catered lunch for counsel before Hearing re OCUC's Motion for Alternate Sale Process (EJM)	200.00
07/01/19	Delivery - Digital Legal	20.00
07/10/19	PAYEE: Cardmember Services; REQUEST#: 270065; DATE: 7/10/2019 6/18 Courts/USDC-DE PHV filing fee for J. Cohen & E. Chafetz	50.00
07/10/19	PAYEE: Cardmember Services; REQUEST#: 270065; DATE: 7/10/2019 7/1 Courts/USDC-DE PHV filing fee for M. Kaplan	25.00
07/26/19	Delivery - Digital Legal	26.25
07/26/19	Delivery - Digital Legal	26.25
07/29/19	Delivery - Digital Legal	17.50
Total Disbursements		1,044.35
		400.070.77
Balance Due		\$99,276.35



500 Delaware Avenue, Suite 1500 P. O. Box 2306 Wilmington, Delaware 19899-2306 (302) 888-6800 Facsimile (302) 571-1750

Federal Tax I.D. 51-0023480

Official Committee of Unsecured Creditors Vista Outdoor Sales, Chair Attn: James G. Hanus 1 Vista Way Anoka, MN 55303

August 20, 2019 Invoice 540815

Matter Name: SportCo Holdings, Inc., Case No. 19-11299-LSS

Matter Number: 133828-0001 Attorney: Eric J. Monzo

Balance Due \$99,276.35

To ensure proper credit to your account, please return this Remittance Page.

PAYMENT IS DUE UPON RECEIPT